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BRI D B IR R AR E

BR3—2 BEMICERAYTILBESNHEHRIET HEEAI/D) _ _ _ HEFE B TR
SERMOMNE | EmES 15781021 BT TR -2 | RTTEMR  SUIUABIE AT KT KR
SERMO TiRICHEY 51 ZEmA
,ﬁ%‘g TREOBBOEILADKRES TREDHBEESILADKRES TREOBBOEILADKES TREDHBESSLADKES
= X 4 =& | Tinh o0 EEE ADKES B 4 TIwALDKE | B ADKES X 4 B2 | EEASOHS ADKES X 4 Ltimhodtks | g& ADKES
(m) (m) (kN/m) B3 (m) (m) (kN/m) (m) (m) (kN/ ) (m) (m) (kN/ )
1 100kN/ %825 | 1.00 | 000 ~ 339 154.51 |3m%EFRBZB| 000 ~ 119|355 17.97 | 100kN/m%E#BZ5 | 1.00 | 1062 ~ 4183 154.51 |3mZEHBZ 3| 3000 ~ 4183 | 3.55 17.97
Zzh s 1.00| 339 ~ 1118 100.00 | s | 119 ~ 11.18] 3.00 156.16 zh s 1.00 1500 ~ 1062 100.00 | #nLSt | 5.00 ~ 3000\ 3.00 15.16
2 100kN/m#%#BZ5 | 1.00| 000 ~ 393| 164.16 |3mEBZB| 000 ~ 155|380 19.22 | 100kN/mM%EHBZB | 1.00 | 1066 ~ 4935 164.16 |3mEHBZ 3| 2500 ~ 49.35| 3.80 19.22
Th st 1.00 | 393 ~ 1171 100.00 | #FnpS | 1.55 ~ 1171 3.00 15.16 zh s 1.00|56.00 ~ 1066 100.00| FnS |5.00 ~ 2500| 3.00 15.16
3 100kN/mM##BZ25| 1.00| 000 ~ 262| 14117 |3mZEBZ5 ~ -| 100kN/m%i#BZ2 | 1.00 | 1066 ~ 2436 14117 |3mZE#BZD ~ -
Th st 1.00 | 262 ~ 104| 100.00| TR | 000 ~ 1040|262 13.22 zh s 1.00|56.00 ~ 1066 100.00| FnLS | 500 ~ 2436|262 13.22
4 100kN/mM#Z#B 2% ~ -[3mEEZD ~ -| 100kN/MZ#B 2% ~ -|13mZEHEZ 5 ~
Zzh s 1001000 ~ 722 91.88 | Ths | 000 ~ 722|191 9.67 zh s 1.00 | 5.00 ~ 9.70 91.88 | #hs | 5.00 ~ 9.70 | 1.91 9.67
5 100kN/mM#Z#B 2% ~ -[3mEHEZD ~ -| 100kN/MZ#B 2% ~ -|13mZEEZ 5 ~
Zzh s 100000 ~ 777 99.74 | TN 000 ~ 777|222 11.24 zhs 1.0015.00 ~ 1051 99.74 | =N | 5.00 ~ 1051|222 11.24
P 100kN/mM#Z#B 2% ~ -[3mEEZD ~ -| 100kN/MZ#B 2% ~ -|13mZEHEZ 5 ~
Zzh s 1.00 | 0.00 ~ 762 97.65 | TN | 000 ~ 762|250 12.61 zh s 100|500 ~ 1174 97.65 | TN | 5,00 ~ 11.74| 2.50 12.61
7 100kN/ %825 | 1.00| 000 ~ 061 109.12 |3m%EHBZ S ~ -| 100kN/m%#BZ25 | 1.00 | 1081 ~ 1254 109.12 |3mERBZ5 ~
Zzh s 100|061 ~ 840 100.00 | =h5 | 000 ~ 840|231 11.68 Zzhs 1.00156.00 ~ 1081 100.00 | =ndS | 5.00 ~ 1254|231 11.68
8 100kN/ %825 | 1.00| 000 ~ 031 104.51 |3m%EHBZS ~ -| 100kN/m%#BZ25 | 1.00 | 11.00 ~ 11.83| 104.51 |3mERBZ5 ~
Zzh s 1001031 ~ 809 100.00 | =nS | 000 ~ 809|235 11.856 Zzhs 1.00|56.00 ~ 11.00 100.00 | =nS | 5.00 ~ 1183|235 11.856
9 100kN/m#Z#EZ % ~ -[3mZEEBEZS ~ -| 100kN/M%Z#8% % ~ -|3mEBZ D ~ -
Zzh s 1.00 | 0.00 ~ 752 96.17 | =hS | 000 ~ 752|229 11.57 Zzhs 1.00 | 56.00 ~ 1007 96.17 | =N | 5.00 ~ 1007|229 11.567
10 100kN/m%#EZ % ~ -[3mZEEBEZS ~ -| 100kN/M%Z#8Z % ~ -|3mEBZ D ~
Zzh s 1001000 ~ 772 99.09 | TN 000 ~ 772|219 11.09 Zzhs 1.00|56.00 ~ 1037 99.09 | TN | 5,00 ~ 1037|219 11.09
17 100kN/m#¥BZ%| 1.00| 000 ~ 018 10257 |3Im&E %5 ~ -| 100kN/mi%#BZ 5| 1.00 | 1053 ~ 1100 10257 |3m&E#BZ5 ~
Zzh s 1001018 ~ 796 100.00 | =hs5 (000 ~ 796|217 10.98 Zzhs 1.00 | 5.00 ~ 1053 100.00 | =ndS | .00 ~ 1100|217 10.98
12 100kN/m%#EZ % ~ -[3mZEEBEZS ~ -| 100kN/M%Z#8% % ~ -|3mEBZ D ~
Zzh s 1.00 1000 ~ 581 72.68 | TN | 000 ~ 581|193 9.73 Zzhs 1.00 | 5.00 ~ 7.00 7268 | TnLUS | 5.00 ~ 7.00| 193 9.73
19 100kN/m%#EZ % ~ -[3mZEEBEZS ~ -| 100kN/M%Z#Z % ~ -|3mEEZ D ~
Zzh s 1.00 | 000 ~ 467 5825 | ThAs | 000 ~ 467 1.84 9.30 zhns 1.00 | 5.00 ~ 5.00 5825 | #nLS | 5.00 ~ 5.00 | 1.84 9.30
100kN/m%#EZ % ~ ImEHEAD ~ 100kN/mM%Z#8 % % ~ ImEHZD ~
ZhLlst ~ Zhst ~ ZhLst ~ Zh s ~
100kN/m#Z#EZ % ~ ImEHEAD ~ 100kN/mM%Z#8 % % ~ ImEHEZD ~
Th s ~ Zh st ~ Zzh sk ~ Zzh st ~
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